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Карточка № 1
1- вариант

Реши выражения.

(34 + 19) – 3 – (15 + 18) + (28 + 29) =

(69 + 27) – (18 – 9 ) – 30 + (14 + 18) =

(35 + 55) – 36 – (17 + 18) + 38 =

----------------------------------------------------------------
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Карточка № 1

2- вариант

Реши выражения.

(93 – 27) – (38 – 19) – 28 + (94 – 38) =

100 – 6 – 4 – (14 – 7) – 60 + (35 + 5) – 3 =

40 – 30 + 5 – (16 – 8) + (12 – 9) = 
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----------------------------------------------------------------

Карточка № 2

1- вариант

Реши выражения.

24:3 + 18 – 2х6 =

15:3 + 27:3 – 3 =

26 + 6х3 – 15:5 =

9х3 – 3х4 + 19 – 21:3 =

----------------------------------------------------------------

[image: image4.jpg]


Карточка № 2

2- вариант

Реши выражения.

24:8 х 6:2 + 6х2 – 17 =

21:3 – 15:3 + 9х3 + 9х2 =

3х8 – 4х3 + 13 – 11 =

6х3 + 18:2:3х7 – 19 =

----------------------------------------------------------------
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Карточка № 3

1- вариант

Реши выражения.

12:6 + (9 + 6): 5 + 6 х 2 =

(27 – 19)х 3 + 18:3 + (8 + 7): 5 – 17 =
----------------------------------------------------------------
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Карточка № 3

2- вариант

Реши выражения.

60 – (13+2):5 – 6х3 + 25 =

(82-74):2х3 + 7х3 – 19 + (63-36):3 =
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